FE5%= RLZBEEMY

1. A mucars B, 28O IRIAERE , FF LR LE AR 360 2 [ 2AT S A LA
[ 2% % i pairs() PREUANE mtcars BUHEE ITA A8 56t A IS U RS

pairs(mtcars,main="mtcars#iEEMSIEFEE")
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(1) mpg (#EiM)

set.seed(3)

# Bidset.seed ORBIEE RsamplefilEERN=ZHEAE

col <- sample(colors(),3)

# boxplot(mpg ~ cyl + am,data=mtcars,at = c(1:3,5:7),col=col)
boxplot(mpg ~ cyl + am,data=mtcars,at = c(1:3,5:7),
ylab="mpg(¥ )" ,col=col ,main="8 HBELE")
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> set.seed(2)
> col<-sample(colors(),3)
> boxplot(hp ~ cyl + am,data=mtcars,at = c(1:3,5:7),

+ ylab="hp(35)",col=col,main="FH#EZEE")
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> set.seed(1)
> col<-sample(colors(),3)
> boxplot(wt ~ cyl + am,data=mtcars,at = c(1:3,5:7),

+ ylab="wt (EE)",col=col,main="EEFLEE")
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> library(ggplot2)
> ggplot(mtcars,aes(x=hp,y=mpg,shape=as.factor (am)))+geom_point()
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ggplot (mtcars,aes(x=hp,y=mpg,shape=as.factor (am),colour=Ffactor (hp)))+geom_point()
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ggplot(mtcars,aes(x=hp,y=mpg,shape=as.factor (am),colour=factor (mpg)))+geom_point()
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ggplot(mtcars,aes(x=hp,y=mpg, shape=as. factor (cy1)))+geom_point ()
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ggplot(mtcars,aes(x=hp,y=mpg,shape=as.factor (cyl),colour=hp))+geom_point()
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ggplot(mtcars,aes(x=hp,y=mpg,shape=as.factor (cyl),colour=factor (mpg)))+geom_point()
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ggplot(mtcars,aes(x=hp,y=mpg,shape=as.factor (cyl),colour=factor (hp)))+geom_point()
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